A.Pythagoras:

How long is the line? Answer = ZZ

Interpret via grid – gives A       

B.Give me the money:

Add together a tanner, 3 bob and half a crown – how many old pence is that? 

Answer = ZZ – interpret via grid gives B

C.Sod it:


If the diameter of the pool is 14 feet, how much 

lawn do I need? Use the common approximation for ∏.  

Answer = ZZ sq ft – interpret via grid gives C 

D.Die Hard:

You have 3 containers. You can only empty 

or fill containers.   Your task is to end up with 

two lots of 4 pints. I have given you the starting 

move each time – fill in the missing numbers

YZ – interpret via grid – gives D
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E.Nice and easy:

       9 8 7 6 5 4 3 2 1       Answer = YZ 

minus  1 2 3 4 5 6 7 8 9


     x x Y x x x Z x x       Interpret via grid gives E

F.Pentangle was one of my favourite groups:

What is the size of the angle A? 

Divide by 2. Answer = ZZ

Interpret via grid gives F

G.Pie are squared – no, they are round:

You have laid the circular lawn in your garden and             

put edging round it. You have now put  a 7 feet wide 

path round it. How much longer will the edging be 

round the outside of the path than the edging round 

the lawn? Use the common approximation for ∏.

Answer = ZZ – interpret via grid gives G

H.Alphabet numbers

Write the numbers 0-9 in alphabetical order. Write 0 as ZERO.

Y x x x x x x Z x x         Answer = YZ – interpret via grid gives H 
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